
2025/03/13 20:10 1/2 chassi_below

Envirologic Support Wiki - https://wiki.envirologic.se/

Pos Art.nr Benämning Antal
1 1101029 Våg 2
2 1101030 Platta med tapp 2
3 941022 Bricka M10 22
4 941025 Mutter M10 10
5 941061 Bult M10 x 40 8
6 93187252 Växellåda 1
7 941049 Saxpinne 12
8 1101199 Hjullager 4
9 951007 Hona joystick 1
10 941030 Bricka M12 10
11 1101199 Lager 4
12 941034 Stjärnskruv M5 x 40 2
13 401059 Distansplatta 2
14 941024 Skruv M10 x 30 3
15 401027 Styrstag fram 1
16 401028 Styrstag bak 1
17 401026 Stag mot hjullagerhållare 2



Last update: 2020/03/26 06:41 cc:chassi_below https://wiki.envirologic.se/doku.php/cc:chassi_below?rev=1585230075

https://wiki.envirologic.se/ Printed on 2025/03/13 20:10

From:
https://wiki.envirologic.se/ - Envirologic Support Wiki

Permanent link:
https://wiki.envirologic.se/doku.php/cc:chassi_below?rev=1585230075

Last update: 2020/03/26 06:41

https://wiki.envirologic.se/
https://wiki.envirologic.se/doku.php/cc:chassi_below?rev=1585230075

